RRB NTPC CBT 2/GROUP D
MATHS

3TdD] I RAILWAY U

Complete Revision

IVE 5:30 PM



MW&// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E06321 /

The ratio of speeds of two trains 1s 10:9. The time taken by them to cross a pole 1s in the ratio 4:3. If the
difference between their lengths is 156 metres then find the length of the smaller train?

ar ¢elt Y aIfer T AT 10: 9 §1 U 9T H IR A & {0 37k @R forar amar §HY 4: 3 & I

I g I I7hr JarE &7 AT 156 MeT & at A & fr dars A Hifgw?
a)324 metres b)378 metres ¢)293 metres d)351 metres
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A circle, with radius 8 cm, which has the area equal to the area of a
triangle with base 8 cm. Then the length of the corresponding altitude of
triangle is:

8 JHT =41 9Tl Uh 9 BT &AW d 8 Ul HTHR dldd FAYS & &A% d &
aRTER g | dl AYS &I Jdfed IFAIR Bl ddrs =1 giRi?

a) 38 1 cm

b) 16 mem
C) 8 1 em

d) 18 mem
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A train running with speed of 80 km/hr crosses a person in 18 sec. Then in how much time this train crosses
another stationary train whose length is 25% more than the length of previous.

80 frel/ee & Ter ¥ T W6 U Je) Ueh eAfdd $F 18 ¥hg A IR Wl & ar Ig Loems fovder gy

# gul R Yot #t oR e ford s agel Yot & 25% 3t 7
(a)42.2 sec (b) 44.6 sec (c) 40.5 sec (d)42.4 sec
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Two numbers are respectively 25% and 50% more than a third number.
The ratio of the first number to second number is:

&l G, JHRR ST & HH: 25% 3R 50% 3@ © | ggat =T 3R
ORI G- DT 3{UTd T g2

a) 1:2
b) 2:1
C) 6:5
d) 5.6



Mﬂtﬁ(/_@d«// FOR MORE DISCOUNT VisIT www.mahendras.org & Use PROMO coDE : E06321 /

A hollow iron pipe is 28 cm long and its external diameter is 10 cm.If the
thickness of the pipe is 2 cm and iron weighs 5 g/cm?® , then the weight of

the pipe is:

Udh [WRAG dig Bl UISY 28 IHI ddl © 3R STBHT |t oA 10 9T g1 afe
grsq @l Hiels 2 JHl © 3R dig BT dol- 5 UTaH/~AHR §, df 91s4 b1 dol-1 gl
SII?

a) 7040

b) 704¢
C) 74 g
d) 7404
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Two trains can cross a pole in 9 seconds and 12 seconds respectively. Find in how much time will they cross
cach other 1f they are coming from same direction and 1f the speed of trains 1s 1n 5:8 ratio.

ar oot fohell Wrs @t A 9 AR 12 HehgH A IR A g Al AT FA H I WER T g A 0 fr A

St §U foherell &T A IR A PR 3AHT A F I 5:8
a)335 sec b)43 sec )47 sec d)54 sec
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A, B and C can do a piece of work in 20, 40 and 80 days respectively. In

how many days can A do the work if he is assisted by B and C on every
third day?

A B3RCHBHI: 20, 40 3R8o fEaid ush T HI IObhd el dfe B 3R C,

TP dibR a9 A Bl Iaradl Uald dd o dl A Tded- el § 1 g1 6=
bl o2
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A person has planned to sell his old laptop for 4500, he would lose 10%.

To gain 20% of profit, he should sell it for:

Udh Afdd = 39 G dUeid &l 24500 H &9 H1

BT g1 BIft1 20% T T R W ferg, I o |

ST & 1% ©, 34 10%
CEEIIGI

a) 6000

b) z7000

C) 37200

d) X8500
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Two trains having same length cross an electric pole in 27 sec. and 24 sec. respectively. Then in how much
time they will cross each other if they are moving in opposite direction.

AT oFaTs T &Y Ty fasTel & U @EN Y FAA: 27 THhs ARX 24 whs # qR A &1 a Fde gay

A3 U g A IR HEn afE 3 RAodia G & a0 @ R
a)22.6 sec (b)28.2 sec (c)25.4 sec (d)30.8 sec
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Salaries of Ravi and Sumit are in the ratio 2 : 3. If the salary of each is
iIncreased by I3000, the new ratio becomes 35 : 50. What is Sumit's new

salary?

RMd 3R AT BT RN 2 : 3P Ul H g | dld YD & Jekl H 3000 DI

dl< Bl g, i 74T 3{UTd 35 : 50 B SIIdl ¢ | A &1 =41 Yak| &1 g2
a) 318,000
b) 221,000
C) 327,000

d) 30,000
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The compound interest on 40,000 at 6% per annum is 34,944 What is
the period (in years) for which the amount is invested?

240,000 TR Yld 94 6% UR dchdla SISl 4,944 g1 98 3d¥ (A1l H) T o
[SrIa 1oTU AT BT (= fobar /™1 52

a) 5 years
b) 4 years
C) 3 years

d) 2 years
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A hall is 15 m long and 12 m broad.If the sum of the areas of the floor and
the ceiling is equal to the sum of the areas of four walls, the volume(in
m®) of the hall is:

U 5|c115ﬁﬂﬁmaﬁ?121ﬁa?ﬁ?ﬂ%lﬂﬁtﬁﬁaﬁ?@d&oé‘1wm P

IR IR SIaRI & &A% d & IR & SRR o | 8id DI A (Hie® H) 1
gITT?
a) 1600
b) 900
C) 1200

d) 720
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If a person had walked at the speed of 15 km/h instead of 10 km/h, he
would have walked 25 km more.The actual distance travelled by him was:

e Pl Afad 10 fbwl/Her & oy 15 fhwi/eer o 7fd I =dr 4T, a1 98 25
fop it 3ifeI Ial 71 ST | I¥h GRI AT Bl 7T dRdldd ol &1 di?

a) 70 km

b) 56 km

C) 50 km

d) 80 km
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Raman paid Rs. 13,300 as simple interest after 9 years. He had borrowed
some money at the rate of 6% for first two years, at 9% for next three years
and at 14% for rest of the period. How much money(in X) did he borrow?

I 91 9 91l & &g IIHRUT TSl & =9 H 213,300 b YA fhar 354
ggd al IId & 71T 6% DI &= I, 3T di1 I1d & [R1T 9% 3R didh] I 3afe
& [RTU 14% UR $© U IUR AT &1 394 [ha- U (X H) IR U 42

a) 10,000
b) 14,000
C) 12,500

d) 12,000
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Find the greatest number that will divide 47, 95, and 187 so as to leave the
same remainder in each case.

Y Fal WA BT T DI SIf 47, 95 3R 187 DI [AUTOIT B IR YD
RUfq H I IVHd <d B |

a) 7
b) 13
C) 9
d) 4
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In a mixture of 60 L, the ratio of milk and water is 2 : 3, then the quantity of
water in the mixture is:

60 TIeR o [HU1 H, g8 31R YT &1 3UTd 2: 3 5, dl (9801 § Ur-t D! JE1 31
8?

20 L

45 L

36 L

16 L
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The value of sin®1° + sin?5° +

Sin?9° + .... + sin?89° is
1
(1) 115 (2) 11/2
11

(3) 11 (4) ﬁ
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sin?5° + sin?10° + sin?15° + .... +
sin“85° + sin®*90° is equal to

1 1

(1]75 (2]85

1

(3) 9 (4) 9 >
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The value of

4 o o )
sin2 7 = - sin= 821—
2 2 is

B tan? 2°.tan= 88° P

g I (2) 2
3) O (4) 4
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The value of cot 10° . cot 20°
cot 60° . cot 70° . cot 80° is

(1) 1 (2) —1

1
(3) V3 @) "3
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The height of a tower 1s 100 m. When the angle of
elevation of the sun changes from 30° to 45°, the
shadow of the tower becomes x mertres less. The
value of x 1s :

T HHAR T SR 100 HX 81 59 g &l
ST 0T 30° F 45° 9<Adl €, df HAR 61
‘-l{%SH%c X HIeT &Y '6\| STl %l X enl HiA ol g““?

(a) 100m (b) 100 (/3 —1)m

100/3 —1 100
m

(¢) \/g (d) \/g m
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At the foot of a mountain the elevation of 1ts summit
15 45°. After ascending 2 km towards the mountain,
upon an incline of 30°, the elevation changes to
60°. Find the height of the mountain.

4l 781€ & RTER &1 59 9§ 9§ 3147 HI
45°%, 30°% FHE H TETS W 2 fH. e ®
IS I R0 SRR 60° 81 Sl €, T TS
HT ST T BT

(@) 3 +1 (b) V3 +2

(€) 24/3 +2 (d) 3
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The length of a string between a kite and a point on
the ground 1s 90 m. The string makes an angle of
60° with the level ground. Assuming that there 1s
no slack in the string, then the height of the kite 1s:

T T SR T R feod W 1 fag & &
T SR *1 oars 90 W, 1 S/ gfasd 9 60°
T 0T ST 81 98 9d 8¢ o S o &g
ol T2l ©, U BT A 0 RIS

(@) 45./3m b)) 5./3m

() 50./3m (d) 50/./3m
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